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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes eafh

sentence. Then mark your answer sheet,

PART A: Vocabulary

1- Before you -——-—--- to the next question, you should take some time to make sure
you’re happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—---; the Kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) tiasco

3- We were very unhappy with the --—------ way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -------—- when he said the dog was “as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a -=-------- matter.
1) contradictory  2) consistent 3) colloquial 4) trivial

6- The police wondered about the man’s -—--——-- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to --—-—-—-
forcibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --——-—- ' said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4} deprivation

9- You’ll have a better chance of finding that unusual word if yvou look it up in a/an
——-—- dictionary.
1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to -——---—- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed Kkillers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) ==eeeeaee- the desired crop relatively unharmed.
Some of these act by interfering with (12) -=-=-=---- and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground. industrial sites. railways and railway
embankments are not selective (13) ==-—==--- all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems. and management of areas (14)
------ -- as wildlife habitat,

Some plants produce natural herbicides, (13) ——-——- the genus Juglans (walnuts). or the
tree of heaven: such action of natural herbicides. and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kall 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Oceanographers divide the ocean into different zones by physical and biological conditions.
The pelagic zone includes all open ocean regions, and can be divided into further regions
categorized by depth and light abundance. The photic zone includes the oceans from the
surface to a depth of 200 m: it is the region where photosynthesis can occur and is. therefore,
the most biodiverse. Since plants require photosynthesis, life found deeper than the photic zone
must either rely on material sinking from above (also called marine snow) or find another
energy source. Hydrothermal vents are the primary source of energy in what is known as the
aphotic zone. The pelagic part of the photic zone is known as the epipelagic. The pelagic part
of the aphotic zone can be further divided into vertical regions according to temperature. The
mesopelagic is the uppermost region. Its lowermost boundary is at a thermocline of 12 °C.
which. in the tropics generally lies at 700-1,000 meters.

Which factor is NOT used to define ocean zonation?

1) Dissolved oxvgen 2) Light

3) Temperature 4) Depth

What is the main source of energy producers in photic zone?

1) Sea snow 2) Temperature

3) Light 4) Phytoplankton

In which part of the ocean can more types of organisms be found?

1) Pelagic zone 2) Photic zone

3) Aphotic zone 4) Open ocean regions

What do marine organisms that live in more than 200m depth primarily depend on?
1) Light 2) Photosynthesis

3) Temperature 4) Materials sinking from the surface
In which depth is mesopelagic zone located?

1) 700-1000 meters 2) 200-700 meters

3) 200-1000 meters 4) more than 200 meters

PASSAGE 2:

Coral reefs are one ol the most fragile, biologically complex, and diverse marine ecosystems
on LEarth. This ecosystem is one of the fascinating paradoxes of the biosphere: how do clear.
and thus nutrient-poor, waters support such prolific and productive communities? Part of the
answer lies within the tissues of the corals themselves. Symbiotic cells of algae known as
zooxanthellae carry out photosynthesis using the metabolic wastes of the coral thereby
producing food for themselves. tor their corals. hosts, and even for other members of the reef
community. This symbiotic process allows organisms in the reel community to use sparse
nutrient resources efficiently.

Unfortunately for coral reefs, however. a variety of human activities are causing worldwide
degradation of shallow marine habitats by adding nutrients to the water. Agriculture, slash-and-
burn land clearing, sewage disposal and manufacturing that create waste by-products all
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increase nutrient loads in these waters, Typical symptoms of reef decline are destabilized
herbivore populations and an increasing abundance of algae and filter-feeding animals.
Declines in reef communities are consistent with observations that nutrient input is increasing
in direct proportion to growing human populations, thereby threatening reef communities
sensitive to subtle changes in nutrient input to their waters. The greatest threats to reefs are
rising water temperatures and decreasing the pH of the ocean linked to rising carbon dioxide
levels. High water temperatures cause corals to lose the microscopic algae that produce the
food corals need - a condition known as coral bleaching.

What is the passage mainly about?

1) Describing the effects of human activities on algae in coral reefs

2) Discussing the process by which coral reefs deteriorate in nutrient-poor waters

3) Describing the abundance of algae and filter feeding animals in coral reef areas

4) Explaining how human activities are posing a threat to coral reef communities

Which of the following does the passage suggest about coral reef communities?

1) The nutrients on which coral reef communities thrive are only found in shallow waters.

2) The growth of coral reef communities tends to destabilize underwater herbivore populations.

3) Coral reef communitics may actually be more likely to thrive in waters that are relatively
low in nutrients.

4) Human population growth has led to changing ocean temperatures, which threatens coral
reef communities.

According to the passage, which of the following parameters are more important threats

to coral reefs?

1) Coral bleaching

2) Ocean acidification

3) Global warming and coral bleaching

4) Ocean acidification and global warming

According to the passage, which of the following is a factor that threatens the survival of

coral reef communities?

1) The waters they inhabit contain few nutrient resources.

2) Waste by-products result in an increase in nutrient input to reef communities.

3) A decline in nutrient input is disrupting their symbiotic relationship with zooxanthellae.

4) The degraded waters of their marine habitats have reduced their ability to carry out
photosynthesis.

It can be inferred from the passage that the author describes coral reef communities as

paradoxical most likely for which of the following reasons?

1) They are able to survive in spite of an over-abundance of algae inhabiting their waters.

2) They are able to survive in an environment with limited food resources.

3) Their metabolic wastes contribute to the degradation of the waters that they inhabit.

4) They are thriving even though human activities have depleted the nutrients in their
environment.

PASSAGE 3:

The hydrography of the Persian Gulf is very similar to that of the Red Sea: but the much
smaller volume of the Persian Gulf greatly reduces its impact on the Indian Ocean. The Persian
Gulf is a concentration basin. The rate of water loss at the surface is only slightly reduced by
river runoff from the Euphrates and Tigris rivers. The Persian Gulf belongs entirely to the
continental shelf, has a mean water depth of only 25 m and, with a sill depth at the Strait of
Hormuz only marginally above its average depth. cannot hold back large quantities of salty
deep water.
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Despite the difference in volume and residence time, the waters entering the Indian Ocean
from the Persian Gulf and the Red Sea have very similar characteristics. The major difference
is in oxygen content. which is markedly higher in Persian Gulf Water because the residence
time is much shorter. Persian Gull Water also tends to have somewhat lower density than Red
Sea Water due to its higher temperature and therefore tends to stay above the main thermocline
rather than penetrating it. Nevertheless. at some distance from the Strait of Hormuz it is often
difficult to separate traces of Red Sea and Persian Gulf Water. and the two water masses are
often regarded as one.

Compared to the Persian Gulf, what is the reason for greater impact of the Red Sea on
the Indian Ocean?

1) Larger volume 2) Smaller volume

3) Greater Depth 4) Specific hydrographic characters

Although the Persian Gulf is a concentration basin, its salinity is not too high because of

1) reduced evaporation

2) depth of the Strait of Hormuz

3) steady slope of the continental shelf

4) high runoff from Euphrates and Tigris Rivers

The oxygen content of Persian Gulf Water is higher than the Red Sea because of --——--—-— 3
1) faster water replacement 2) lower density

3) higher density 4) higher temperature

Persian Gulf Water stays above the thermocline because of .

1) higher salinity 2) higher temperature

3) reduced mass 4) less depth of the Persian Gulf

Why are Persian Gulf and Red Sea Waters regarded as one water body?
1) Because of similar fauna and {lora.

2) Because they have no physical barrier among them.

3) Because they both stay above the thermocline.

4) Because of mixed key elements of both waters.
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